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SN BA(SA) - MRAY - BES 0l &t o il HImEET
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J| 3,022,000
[ia 3,142,600
gsd & 6,164,600 5,092,285 1,072,315
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[ia 3,142,600
LHAFHI DN (LHELZTHTNSSES ) 6,164,600 5,092,285 1,072,315
J| 3,022,000
[ia 3,142,600
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201 Let24E] 14,900 14,900 0
01 At 22l 4,900 14,900 210,000
0 NBASSY Mot L AREE
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02 23=2gl 10,000 0 10,000
O st dEA AT XNEAXNSH HEFE2AS 2
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201 Let24E] 188,000 174,000 14,000
J| 188,000
01 At 22l 37,200 43,000 A5,800
0 DA EXAE 22 500,000& = 103l 5,000
J| 5,000
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SM: B
o J|Ysy X
SR UHATBIAKE (LHATHNASHSH) (e
SA - BAEN) - NRAY - LS 0l &F 24 il D E2
0220 oK1 2HME (D52 221
el 221) 70,000
gl 70,000
022 J2Y SN (BHL)
300,0008 * 2374 4 6,900
ol 6,900
0 DB HMS3 SYH XA (27HL) 30,000
p] 30,000
0 24 210 ATASANY 2Y(AYEH I
20y 299 62) 180,000
p] 180,000
02483 J2Y SN (18HL) 20,000
ol 20,000
401 A& HI LSO 1,211,510 806, 400 405,110
gl 1,211,510
01 Al 1,209,510 804,400 405, 110
023 EHYZ SRAL S (22H2) 330,000
p] 330,000
0228 A7 FOIHBA(220H4) 347,560
gl 347,560
028 472 ZTAE M4 A (20H4)
2,000,008 * 2004 2 40,000
gl 40,000
02 MUY L MIAE ZHl A (1204
&) 20,000
gl 20,000
0 BB HFEZY THAY(15IHA) 20,000
gl 20,000
0288 A7 FOIXEAL(240H4) 451,950
gl 451,950
03 Al = Ch bl 2,000 2,000 0
28 ARD FOUSAANY SFL22(3) 2,000
p] 2,000
402 BIZHXHZ O] 396,000 745,000 349,000
gl 396,000
02 QIR AR EE (0l FHTR) 396,000 745,000 349,000
0 2H% YT AL SX(8MHA) 396,000
gl 396,000
405 XHHE S HI 35,000 0 35,000
gl 35,000
01 ML SEHSH] 35,000 0 35,000
028 CIRXNI 7Y (3T)
35,000,0002 * 1CH 35,000
gl 35,000
SEP-BIEISIETESEY D 584,600 590,434 ~5,834
p] 584,600
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SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2

307 QI2t0| & 584,600 590,434 N5,834

Dl 584,600
02 At MAIEE X 584,600 590,434 AN5,834

0 2LH AB=EAE X2 (1,35040) 210,000

Dl 210,000

0 DECHO MEBEASE XK (1,225HTH) 34,000

Dl 34,000

0 2400 ABEAZ X (1,500A0H) 300,600

Dl 300,600

40,000
Il 40,000




